Writing-Project-1-solns.notebook October 20, 2024

Ray's Office: HOR 103
Testing Room: Suite 107

Open hours: 8 am - 8 pm

RocketBook for making PDFs out for cheap.

Free "Scannable" app for iPhone (Evernote Brand)
I've seen good results from Camscanner for Android.
GeniusScan app

Notability app. Save on iPad and just upload to D2L.
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(10 pts) Evaluate Ilm : by factoring. /2 Dot . .(:, Lo e L,.r !;/c.
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4
x4 q-4 -0 =
ﬂ_ — - — =
= A

(10 pts) Evaluate each of the following by factoring and simplifying

a. lm —3“ F17x-28 ,aw Q(")

T4y +31x+21  y-93

. One exists. The other doesn’t.
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3. (10 pts) Prove that l.itrﬂ]{?x—B} =32 (This is the £ — o proof you're dying to do.)
Cll= 2x-3, =32, '

- = - l‘S
Glape = F= A2 wwent A‘J"“%0 Licg whe Bx=1x-5
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1Ax=A7A
Dx= /,;,1
- %
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b.&Cenc S,-—' %—_W O‘\K—g\<5:

4. (10 pts) Compute the derivative of f(r) =x" —3x+4 by the definition of derivative. This means taking

the limit of a difference quotient.
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5. (5 pts each) Compute the derivatives of each of the following. Do not simplify your answer.
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6. (10 pts) Find an equation of the tangent line to f(x)=cos(x) at x= g Then sketch the graph of this

situation, with the function and its tangent line, together on the same set of axes.
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7. (5 pts) Use your result from the previous problem to approximate vuay+v

Yo' =é~|o'\[-§;> = :L'f
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Bkl wos(16°) % 07660444431 , 4o 10 decimal places .
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8. Find all values of x such that f'(x)=sin(2x)—x has a horizontal tangent on the interval...
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9. (10 pts) Find ?—, given that x°)’ +2xy —sin(xy)=3
x

'Ly\,“+1~?~g~)‘4.131.043’—-@;(«93(,4—*9’) = 0 —7
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S 1
B1 (5 pts) Find the derivative of / (x)= , by the definition of the derivative.
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B2 (5pts) Prove that fim | +5x+ 2)=16
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